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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all five questions, selecting two parts from each
question.

3. Use of scientific calculator is allowed.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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1. (a) (1) What are forward rates? Invoke the comparisop
principle to derive the formula for g one-year
forward rate. How does the arbitrage argument
justify the use of the comparison principle?

(1+2+2)
(1)) Explain the concept of yield to maturity.  (2.5)

(b) What is duration of a portfolio? You are managing a
portfolio of $1 million. Your target duration is 10 years,
and you can choose from two bonds: a zero-coupon

bond with maturity of 5 years, and a perpetuity, each
currently yielding 5%.

(1) How much of each bond will you hold in your
portfolio?

(i) How will these fractions change next year if

target duration is now 9 years? (4+3.5)

(c) (1) Suppose that you take out g four year loan of
10000. The bank requires you to repay the loan
evenly over the four years. Suppose the rate of
in;erest is 10% a year. Find the annual payment

that is sufficient to repay the loan. What is the
interest paid for the |ast year? (2.5+2.5)

(i) Give the €Xpectations explanation of the term

Structure, (25)
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2.

(a) What is spot rate? If set of zero coupon bondy are
unavailable, show how the spot rate curve can be
determined from prices of coupon bearing bonds.

(1.5,6)
(b) What -is immunization? Explain the concept of
reinvestment risk. (5,2.5)

(c) Calculate the present value of an annuity that begins
payment one period from the present, paying an amount
A each period for a total of n periods. How does the

answer change in case of perpetuity? (5,2.5)
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(a) (1) In Markowitz Portfolio Optimisation Model, the
efficient frontier of risky asset must necessarily

include the ‘special portfolio’ having least variance.
Elaborate. (5)



2878 5

(1) What is the notion of an ideal bank? (2.5)

(b) (i) Find the duration D and the modified duration D,
of a perpetual annuity that pays an amount A at
the beginning of each year, with the first such

payment being 1 year from now. Assume constant

interest rate » compounded yearly.

(11) Consider the cash flow stream (-200, 100, 100, 100)
when the periods are years and the interest rate is

10 percent per annum. Find the future value of the

cash flow stream. (5,2.5)

(c) Suppose there are n uncorrelated assets. You may invest

in one, or any combination of them. The mean rate of

return is the same for each asset, but the variances

are different. The return on ith asset has a variance
1,2,3...n. Find the minimum-variance

(7.5)
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4. (a) If returns are positively correlated, it is more difficult
to reduce variance and there may be a lower limit to
what can be achieved. Show mathematically.  (7.5)

(b) (1) Give the investment implications of CAPM?

(11) What is short selling? Discuss how the optimal set

differs under short selling as compared to without

short sclling. (2.5,1+4)

*

(¢) Discuss how CAPM pricing formula resembles the
ero coupon

pricing of a fixed income security like z .
(7.

bond.
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5. (a) (i) In the Capital Asset Pricing Model, explain what is
meant by beta coefficient, Bi for a security?

(i) Consider a world with only two risky assets, A and
B, and a risk-free asset.

Stock A has 200 shares outstanding, at a price of
300 per share, an expected return of 16% and a
volatility o of 30%. Stock B has 300 shares
outstanding, at a price of 400 per share, an expected
return of 10% and a volatility o of 15%. The
correlation coefficient pAB = 0.4. Assume CAPM
holds. Calculate the following :

(i) expected return of the market portfolio

(i) volatility of the market portfolio
P.T.O.



(iii) the beta of each stock

(iv) the risk-free rate. (2,5,1+1+2+1)

2878
(b) (1)
(ii)
(c) ()

(i)

What is diversification of a portfolio?

Suppose Ravi decides to short 100 shares of stock
of a company. This stock is currently selling for
Rs. 100 per share. Ravi borrows 100 shares from
his broker and sells this in the stock market,
receiving Rs. 10,000. At the end of 1 year the price
of the stock dropped to Rs. 90 per share. Ravi
buys back 100 shares for Rs. 9000 and gives these
shares to his broker to repay his original loan. What
would be the rate of return for someone who
purchases the stock at the beginning of the year
and sold it at the end? Explain how shorting benefits
Ravi. (2.5,2.5+2.5)

What are index funds? How does it serve as the
one fund?

The correlation p between assets A and B is 0.1,

and T, =10%, T, =18%, o, =15%, 6, =30%. (I) Find
the proportions a of A and (1-a) of B that define
a portfolio of A and B having minimum standard
deviation. (II) What is the value of this minimum
standard deviation? (III) What is the expected.
return of this portfolio? (3.5,2,2)
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The paper has nvo sections A and B.
Section A -has 3 questions: section B has
four questions. Answer «/l the questions.

Section A

Answer all three questions @ )

L. Answer any nvo from the following in about 100 words

each - ﬁ 5+5

() What role does “inspiration® play in the creative
process . How have vou been inspired 10 write

creatively ?
(h) What do you understand by -creativity’ 2 Give three

instances of creativity in everyday  life.

P.T.O.
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‘(c)' Do you think reading is lhc'_ basic requirement before
writing 2 Why

() Cimlivc Writing uses imagination. ‘Do you agréc with
the statement ? Give reasons for your answer.

Answer any ‘mb from the f‘ollowing in about 1'00 words

each : 5+5

(@) What is News Feaiufe ?VA‘E:xp‘lain with reference to other
kinds ‘(;f news.

(b))  Would you agree that. writing fo:r ‘the New Media
requires different kinds of ;kills fronﬁ those required for
print media ? Give reasons for your answer.

(¢)  Explain Advocacy‘Advertising. What are tl.\e points to
be kept in mind in order to make it effecti\;e?

(d)  What kind (’)f writing gets published in ma;azines?

. : . £ dian
Substantiate your answer with the example of any I

magazine.
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Answer any nro from the ollowing in about 100 words

ecach : 545

(@) Does imagination play a role in creative non-fiction ?

Give reasons for your answer.

(&) Define plot and explain any (wo elements of plot.

(¢)  Can children’s stories have an unhappy ending ? Give

reasons for your answer.

(d) Describe nvo different kinds of ﬁovels givilng ex.amples
to illustrafe fhe diﬁ‘grencé.
Section B

Attempt all four questions

\

(a)  Read the passage below and identify any five figures

of speech from the list

D

(/)  Simile
(iiy Homonym
(iify Homophone

(iv) Alliteration

(v) Metaphor

P.T.O.



(vi) Synecdoche |
(vii) Oxymoron
(viii) Onomatopoeia
(ix) Metonymy
(x)  Hyperbole.

A comfortable-looking chaif, with pillows as soft as a
mother’s touch. caught his eye. A tiny table sat to the
left along the wall but it didn’t look as though it had
ever»be~e’n used. The entire right wall was covered floor
to ceiling with windows. affording a phenomenal view
of the compound and city below, the build-i‘ngs looking
like scattered toys from this height. The sunlight hit

the window and scattered into a million stars.

There were no personal effects: no pictures of family.
i i aces
no items of sentimentality. The table and desk sp

: Ao i ilv tidy
in the room were immaculately impersonal. Messii)
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in a way that was calculated, too believable. Everything
in the room had a practical pm'p'osu There were oftice
supplies. files currently in use. and a sleek, thin
computer that was turned off. The fizzling, hissing sound
from the adjoining room alerted him, and he saw the
jagged, ugly saw resting against the 'wall just as he
stepped in. Th¢» scun'}-/ing' feet he glimpsed made him

shout out....

Identify any five figures of speech from the examples

viven below | . _ | 54

(iy We ate at eight in the evening

(i) Name now one¢ man

(iii) She’s wone to her cternal rest

(iv) He neceds a CAT scan right away.

(v)  She's wearing a red dress with»blue flowers. he’s
wearing a blue shirt with red flowers.

. < ok o< 3k K !
(viy Damn it ! [ hate that prxk**d !

P.T.O.
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((7)

b)

(c)

(d)

¢ 6 ) 2884

(vii) Welcome. Please do come in and have g seat.
(vii) The rose of love has bloomed.

Define any nwo of the following 343
(/) Paradox
(/) Allusion

(i) Jargon

() Aphasia.

Define any ose of the following : 3
(/)  Divergent Thinking
(i) Madness in Creativity.
Define any one of the following : 3
(i) Profiles
(11)  Slogan.

3

Define any one of the following :
(/)  Readability

(i) Manuscript.
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Rewrite "the following as a dramatic scene with dialogue and

A

stage dircctions 10

Flo had to take the men"s dinner to them in the far field.
The master opened it up and asked ’why there was no pie
In thg dinner.

“If vou want any pié you -can make it yourself,” said Flo.
in the exact words and tone of her mistress when they were
packing the dinner.

The master was amazed but recognized the imitation. He

marched Flo back to the house and demanded of his wife

7 f

ff that was what she had said. -

The misfrehss denied it. She said that Flo was a troublemaker
ar;d a liar.

The mistress faced him down and. when she got Flo alone

she hit her with such a clout that Flo was knocked across

the room into a cupboard.

PTO.
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4.4. | Edit the following passage and rewrite it cori‘cctl}’ - 10
The Sumerians first invented writing as - a means of |ong-
distance communication which was necessitated by trade. With
the rise of the cities in Mesopotamia, and, the need for
resources which were lacking in the region, long-distance trade
developed and with it. the need to be able to communicate
across the expanses ‘between cities or regions. The earliest
form of writing was pictographs — symbols which represented
objects — and s¢rved to aid in remembefing such. things as
which parcels o_f grain had gone to which destination or how
many sheep were needed for events like sacrifices in 'the\
temples. These pictographs were impfessed onto wet clay which
was then dried. and these became official records -of connﬁerce.
As beer was a very popular beverage in ancient Mesopotamia.
many ot the earlicst rcc:ords extant have to do with the §ale
of becr. With pictographs, one could tell how many jars or
vats of bear were involved in a transaction but not necessarily
what that transaction meant. As the historian Kriwaczek notes.

“All that had been devised thus far was a technique for noting
down things. items and objects, not a writing  system.”

8 : 1.200
2884 , ,
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What do you understand by Heritage ? Discuss steps taken
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by the Oovernment in protecting our Herltaoe
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Discuss the relationship between History and Heri.tage,
P iR fEd B simEEH W W.@ﬁﬁﬁll
»\\'hat is the difference be\tween tangible and intangible
Heritage 7 Discuss with nwo examples each.

swin ok wife froen d sw @ @
SO WY W | ‘

In what ways do antiquities help us in understanding History ? -
37%%'&?? Ea msr% ﬁ H'Fﬁ? 313@"5{ (antiqﬁitigs) Wrﬁ
FE YER EE@ #d ¥ 2 wE wifw

Do you think festivals and fairs he]p us in understanding our

hen’tageA? Discuss with e‘xampl_e’s. |

Sl L e s——

mﬁ"ﬁmmﬁ%vm?ﬁmawml
Or/3TAAT

What do you understand by Historical Tourism ? Discuss

with examples,

-

AR O W wm v 0 s
T o= Fifan |
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(a)  National Museum - A L%
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2 N C SSIE 2y Y o o | . . -
_“0“ does heritage get endangered in times of war and

conflict 2 Mlustrate with one example.

IR R W & W A fam wER fam o
T WA ¥ W@ w4 e afrﬁml

Discuss the main featurgs- of lndg—lslamic architecturf;_with'\

examples.

qmwﬁmwﬁﬁﬁﬁg@ﬁrﬁwaﬁﬁm_
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Write short notes on any two of the followin
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(¢) Shrine of Nizamuddin Auliya ) ,\ (eW o

(d) Bhératnatyam. .

P.T.O.
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5.

Define Heritage. BExplain its Importance in the present

cra.

e ® wRaRE w1 WERE T A TR wrem
I |

Can History and Heritage be seen as similar? Critically

analyse its inter-relationship.

=1 Thew Jva e = 2 7 a3 ¥ T s
T T @ihd e |

What is the difference between tangible and intangible

heritage? Explain with examples.

=g vd sfda fRAgad & A & I qied qHAEE |

How do Conventions and Acts at national and International
level be used effectively to protect cultural heritage

sites?

e v T v g wR W e vE s
gl W e qeen A weww fg 0§ 7

How
f ow 1s the Nagara style of temple architecture different
rom the Dravida style? Discuss with examples.
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TR AT oA Fe o wverlt afe wen AR A B T et
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6. Do you agree with the view that attack on world Heritage
sites is nothing short of war crimes?

T AT [ AT F AN W@ F B A e we # Roaa
T g€ = R ¥ =y 49

With the help of a case study explain how are Heritage and
Tourism related?

& TF I (case study) D FEEET ¥ T @ wWew &
gl A W@ihd HIT |

Write short notes on any two :

ﬁ#fﬁﬂmmz

(a) National Museum
T qaBTd

(b) Challenges in Herita:ge Preservation
eRYeT GeEor A Ao

P.T.O.
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(¢) National Building and Heritage
T AT vF eRiER
(d) Taj Mahal
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Write a briet Introduction of Sanskrit Chandahshastra.
AAAT (0Or)
TEd B B I9@ AR faem W ymmw e

Throw light on the origin and development of Sanskrit

Meters.
Discuss the traditional explan;ltion of Sanskrit Meters.
AGAT (Or)
FET AR AAgE F IEE afeq aHgE
Explain to Syllabo-quantitative verse (Varnvritta) and
Quantitative verse (Matravrtta) with examples.
_%Zzwéammaﬁiwmﬁawml’s

. “he shastra.
Discuss the Gana and Feet according [0 Chandahshas
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Write short.notes on any nwo of the following :

THITNETH, TFGH, JREAH, AI-T6 1
Frefated afces s<i & @ et 9 &1 aam ik ST
difsg @ | N (R
Write the definition and example of any nvo of ihe following

| Vedic Meters :

‘3'F5"Tr<'=5\ (Usnik), -fsrﬁgv\ (Tristup), | STat (Jag‘e;ti),
T (Gayatri) |

fremfefim dif 51 4 Fredh < 1 et o s
ﬁﬁl'q 3 10
Write the ’deﬁnit'ionvand example of any two of thé following

Classical Meters :

afreon (Sragvini), efmfaa (Harigitika), amat (Arya),
ferafof (Shikharini) |

PTO.
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ﬁmﬁf@aaﬁmma ﬁ#f?ﬂ‘-rﬁm-m#
ferdton Fiferg ;- |

15

Analyse the lyrical methods of any three of the following Vedic

Meters :

Tﬂ'ﬂ_'iﬁ (Gayatri), . 347'\[}%"1 (Anustupa), 71"5'3:7 ( Brhati ), -

g (Tristup), R (Panktiy |

2948

ﬁwﬁw@a%aﬁﬁﬁwiﬁwﬁm~m
&1 faveom wifsg .

15

Analyse the Iyrica»l methods of any three of the following

Classical Meters :

Wﬁ (Bhu;angaprayata), T‘hﬁ (Totaka) arfert (Mahm),

. W (Sragdhara), HThT=l (Mandakranta)l
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Maximum Marks  : 75

(Write your Roll No. on the top immediately
on receipt of this question paper.)

(¥ 5797 & fAed @ IR 27 17 feifa
QI W 3791 A% farad 1)

NoTE:— Answers may be written either in English or in
Hindi; but .the same medium should be ised
throughout the paper.

fewvit.— s@ Jv797 &1 IR AV W o<t frat ww
9T Ffg AfeT aut It &1 arem ww &
g1 e |

Attempt any four questions.
All questions carry equal marks.

fa=l ar gvat & I g
ast gt & F U §

P T O.
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1. Discuss the concept of Rule of Law and its relation

with the Criminal Justice System in India.
fafy & YT & IAURON qur Ul arg-syam
& WY WS G99 99 FEw

2. Discuss the provisions related to arrest and bail in

(V)]

India.
mﬁﬁmﬁaﬁ"{m.ﬁgémmaam
ST |

Discuss the laws related to rape and sexual harassment
in context of India.

aE ¥ Hed ¥ genen U9 d-sdied § 92w
F1 fag=ar FfAT |

Examine the legal and constitutional measures
adopted to protect the rights of the Scheduled Castes

and Scheduled Tribes in India.

qra # wqafad aifedl @@ srgfed s *
aferd & d@ % fag AT M weAE o
FAAT rEYTEr H qler Hife |

Discuss the laws relating to the protection of thf}f'gh;:
; e . "
of the working class with emphasis on the Minim

Wages Act (1948).
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LT WA iU (1948) W ww 3% gu sfw @t
& AUFR & wrew A el FAT ==t Fifg

. Assess the functioning of the Right to Information Act
(2005) in strengthening democracy in India.

Wﬁa‘tmaﬁmmﬁﬁ'wéﬁw
SR (2005) it Frefwonedt 1 Teaim Fifa )

- Write an essay on the rights of the forest dwellers over
forests with special reference to the Forest Rights Act

(2006).
ST AfaER sifafrEm (2006) ¥ ARy wed § s
W FAaNEAl & ATYSRI W o feyg faf@g)

. Write short notes on any two of the following:
(a) Procedure for Obtaining a Voter ID Card
(b) Rural Job Guarantee Scheme in India

(c) Consumer Protection Act (1986)

(d) Rights of the Persons with Disabilities.

frefafaa d A fadl & W dfaa feoaui SR
(a) TaCrdl UBAM-UF a-aH &t Aiwar
(b) 9Rd § urHior YR TR AT
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(c) IqsiieRr G sfafan (1986)
(d) fasart At & ATUFR |

5500
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Maximum Marks : 75

(Write your Roll No. on the top immediately
on receipt of this question paper.)

NortE :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.

Roqoft : 37 g979-97 F IO oA Ir R Bt v YT
7 @iford; dfdT aft sl @1 Aregw e & g
FIRT |

All questions are compulsory.

&t g9 Sifars &

1. (a) Briefly explain the advantages and limitations of

transacting online.
SAA@TE (Online) VX & @9 AR WHC FaEd| 7
(b) State the differences and similarities between Brick and

Click and Pure Online Business modes.
P.T.O.
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f SR faxia (Brick and Click) 3l g sifameg

ATTHIAG HiSel ¥ A A TG (Similarities)

AT | 8
Or (37ea)

@ Briefly explain the factors which have contributed to the

success of an e-commerce business.
ST A & THAA b BRON T YIS ST |7
(b) Compare and contrast in-house and outsource methods

of website designing.

Tl 7 o FINY iR s SaqmEy ) 8

(a) Explain the dimensions of ecommerce security. What
is the need of e-commerce security?
TFE GO b A A Tt B S g
F1 AE5TFAT Gl 87 8
(b) Differentiate between symmetric and asymmetric

encryption.

AT T semtag TR (Encryption) § 3=}

m | 7

Or (CWWT)
(@) Briefly explain any three of the following:
(i) Hackers
(i) Spoofing
(i) Cookies

(iv)Encryption.



3.

7821

Frafafes F & B & o i
) W (Hackers) #“‘“U r‘a((
(i) THT (Spoofing) / ;‘ ‘e
Gid) FPT (Cookies) {1

e F 2 ' -,' ’
_ ) \ \uf{ j
(iv) QRS (Encryption). %\‘ i‘
Y .2 /,f

(2) Explain any three methods o\ctﬁil_rﬁ'@u
TR B 5 o ala @ avfr HfE 7

(b) Explain the concept of online shopping. What are the

advantages and limitations of online shopping?
SIS QT (Shopping) @ SEERET @ wweEd |
HAEIET AWYT & IO7 3R A ¥ 8
Or (W)
@ Discuss the advantages and limiiations of payment
gateways.
U TS (Payment Gateways) & 9 iR drrai
1 o FIRT | 7
(b) Explain the growth of online banking. What are the
limitations of online banking?
ez 4FET @ dafa B aviT RN S
dfem #r bt @ar ¥ , 8

(a) Discuss the challenges/threats faced by e-commerce.

famd & gY@ FAfd/aad & avT Sk 8

(b) Discuss the relevant provisions of Digital Signature and

Electronic Signature covered under Information
Technology Amendment Act, 2008.

3 P.T.O.
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IT "ae atfafem, 2008 & oraia Rfves TERR
AR FARIE TR B wEyE & qui FRTT| 7
N . Or (sea) <
(@) Briefly explain the methods used to provide security t
(0]

the client and service provider in order to minimise the
challenges faced by e-commerce.

;m & Y T B B A B R e

HAT T B GO T T B 0w B aom
HIfSTT | 8

(b) Briefly state the objectives of Information Technology
Act, 2000.

IT Jrfafm, 2000 & IR9A &1 o HifT | 7

. Write short notes on any three:

@) Digital wallet

(ii) Electronic fund transfer

(iii) Tags and attributes in HTML
(iv) Frames in HTML

(v) Anchor/Link tags in HTML.
ot d W @y fewer fafa:

(iii) HTML & & (Tags) AR il (Auributes)

(iv)HTML # efa (Frames)
(v) HTML & & wt/fi® (Anchorlink (ags) 3x5=15
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt of
this question paper.

= All questions are compulsory.

3. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

o & foro frder

bW @ e & SR Ry g PR o w® s s

ferfeae |
L wl ae aifar @

T W -7 IR AN A B R v v ¥ Afere, At

WWW@?MW@@
P.T.O.
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1. (a) What is ecommerce? Is ecommerce 2 broader concept

of e-business?

(8)
(b) Differentiate between Brick & Mortar business mode]
and Pure On-line business mode]? (7)

OR

(a) Explain the different layers of ISO/OS] reference model
of internet protocols. (8)

(b) Explain the life cycle approach of website development.
(7)

(%) -=00d w1 27 = afrew §-wmem @ s fegw
FIUROT 7 7

(F) T T M 3k sierET e AR ¥ R W B
rera

() ISO/OSI & T=Tie Worwies ¥ wabud R AT 3
R A IR IR |

(%) dwee Rem & Semow agw @ o @90 |

. . . he
2. (a) What kinds of basic securities are required over !
. 8
internet? (8)
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(b) What is hacking? Explain different kinds of hackers.

(7)
OR

Write short note (any 35 : (5%3=15)

(2) Sniffing
(b) Spoofing
() Cyber-vandalism
(d) Phishing
(3) Teoe & fog = anumgaqﬁ%iﬁthaﬁ CICEOC T IR

(@) 2T (Hacking) ¥ 8 7 ¥ (Hackers) & fRf= &Rl
= guiA SHitog |

E s
f st d % ‘a'g feoaforal foriad :
(#) =mefEa (Sniffing)
(@) =% (Spoofing)
(7) @rga Hqau
(3) f&fa (Phising)

p.T.O.
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3. (a) What are the various properties of money transfer
that are being addressed by the ACID test and ICES

tCSt? (10)
(b) Write a short note on e-wallet. (5)
OR

(a) What is e-money? What are the different kinds of e-
money? (10)

(b) What is payment gateway? (%)

(57) faFT W&oR & H@1 swaRd @ & ACID 9&w 3k
ICES qdterer =1 2 7 |

(@) =-wc (E-wallet) W v& g é‘mﬁ forfez |
3reran
() E-Fo1 7w 2 7 $-@r B AW woR @ F 2

(@) A (gateway) w87

4. (a) Explain the concept of Online Career Services. What
are the merits and demerits for employers as well as
job seekers? (10)
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(b) How many kinds of links are there in HTML? Explain
with appropriate examples. (5)

OR

(a) “Online shopping has become more popular now a days.
Comment. What are the pros or cons of online
transactions? (10)

(b) What is nested list in HTML? Prepare a nested list for
a book shop. (35)

(3) sTaeTes Sha=afer Jasl &1 avly e | Rdremst sk =
TEFSA & forw o sk dw o ¥ 7

() HTML % faftmt =i = 2 ? Suger Semeew ot @ |
Frera

(31) e wfdT o A AEHE 2 P e DR
AR W B AU-AY TR |

() HTML ¥ ufs g =1 ® ? G T (Book Shop) ®
g enfRe o= ==m=a

3. (a) What is_electronic signature? Explain the various legal

. . . | 8)
provisions regarding electronic signature. (

P.T.O.
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(b) Discuss various threats in on-line business model.

(7)
OR

(a) Briefly Explain the various provisions regarding legal

recognition and retention of electronic records. (8)

(b) What are the objectives of Information Technology Act,
20007 : (7)

() To=E TEER W 8 7 ToegiHe EEER ¥ aeirud
FEA TAUA @ qUE HRY |

(@) FA-AEA wEEE Aed B AR @R F T AT |
Jrrar

(%) zomgiaE wfvemdl @) e A SR SRR & R
YA AU SR |

(@) IT sfufaw, 2000, & fafier 33w @@ & 7

(4800)



This question: paper contains 8+4 printed pages]

Roll No. | | | .
S. No. of Question Paper © 7081 /")%{ ” |
Unique Paper Code ! i'227330l
Name of'the Paper © Financial EEconomics
Name of the Course . B.A. (H)——Economlcs—CBCS—SE'G-m—:«w*"
Semester B ||
Duration : 3 Hours | ‘ Maximum Marks : 75

(Virize vour Roll No. on the top immediately on receipt of this question paper.)
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feoqutt :—mm~wmwmm%ﬁ%@@w
g Zfsu, @fFa I 390 1 W Uw | a'—n
liaed
Attempt all five questions, selecting two parts
from each question.
Use of scientific calculator is allowed.
U A B W w A kW E,
FA U YA H I G |
It Fowerer w1 wAm fEar w1 wewdr ¥

P.TO.
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(a)  Explain ‘the annual worth method with the help of
an example. How does it differ from the NPV

'analysis. . o : ’ 52.5

(b) (i) - Rank the folloWing bonds in terms of descending
duration (without calculating) and give reasons for

the same :

Bond Coupqn Time to Mat_urity Yield to Maturity
A 10% | 30 years 10%

B 0 30 years 10%

C 10% | 30 years 7%

D 10% : 5 years 10%

(i) Calculate the duration D of a 10%, 30 year bond,

if it is .at par. 525,

(c)  Differentiate between Macaulay duration and modified

duration ? , | | 75

(a)@mﬁmﬁmﬁmw-ﬁfam
fageroor wifw) T8 Npv favamo | &9 AT



( 3 ) " e 7681 

(®) () wedt srafy. (fem o ) & w9 #
ffaltad stan @ frefua wifa an s
faw sRru AR | |

Bond Coupon Time to Maturity Yield to Maturity
A 10% | 30 years , ‘lO%
B 0 30 years \ 10%
C 10% 30 years 7°/<,>‘
D 10% 5 ~y§ars | 10%
(i) 30 a9 @t F 10 wRwE ¥ s/afa D F
T HIRTT AR qE TR W R
(@) A sfy w Geifd sty @ W SR
e FHifau |
(a) Consider a portfolio consisting of n assets all having

a rate of return with.mean p, variance o2 and covariancg
602 Show that portfolio variance cénnot be reduced .
below 606% no matter how largé n is made. Elucidate
with a diagram. | | 75 |

P.T.O.
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(# () Give three explanations for the shape of the spot

e curve.

) Dislihguish between implied forward rates and the
market forward rates. Specify the forward rates

under different compounding traditions_. 345

()  Describe the Markowitz problem. How does it lead to
the two fund theorem ? : 255
(%) & wRemfs W faar Fifww St o, hEehs
% wifoa s ® fows oft ofmsfs
HIET p, WO o 99 FEIE 602 WY AW
#l W WA § e 5 OewfeE wwo
6> = AR ®W TE FRW W wwa ¢ Wn
n Wt sifte =& 98 e S o @
SRl AT it |
(3) () ©ie T o D AER D FAC AT T
gifsia
iy Fafifea swaf@ g€ aw SNR SPEIRG
i & da Jar we sifsw o=
a9%gfe TOqU @ srala s < @
fayafaa wifsa)

(|) wEifaa qaen @ favawo sifag) 98 B
g %1 HQ Aged w@ & 7




(c)

(i)

( 5 ' -

Consider the cash flow sequence (-2, 2, 4), find

the intermal rate of return of this cash flow stream.

Using fwo methods of cvaluating investment

decistons, the IRR and NPV methods, evaluate the
two flows associated with harvesting trees to be
sold for lumber: (A) (-1, 2) cut early B) 1,0, 3)

cut later. Assume. that the prevailing interest rate

is 10%. | 255

Show how the variance of a portfolio return can be

calculated easily from the covariances of the pairs of

asset returns and the asset weights used in the

portfolio. 75

(1)

Derive the general formulas for mean retum of a
portfolio and variance of portfolio retum for a

portfolio comprising of n assets with rates of

FEWrm 7y, ry,........ . r,, expected values of rates of
rewm E(r) = 7. Ery) = B E@) = T,

variance of the return of asset i, ¢, and
covariange of return of asset i with asset j, O,

respectively.

P.T.O.
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(/1) Consider a porttolio comprising of two assets |
and 2 with weiphts w, + /4 and wy = 3/4
respectively. Given, 7, = 0.12, o005 6, = 0.20,

0, 018 and o, = 0.01, calculate the mean

and variance of this portfolio. 1543, 1.5+1.5

() AR AR HH (-2, 2, 4) W fo=m #ifsu)
9 96 WAO® Wid & Al oy #1 eX
Jd SIS

() 3 IRR A NPV fafs. =1 s/ ww@ g
fw fofn % qeaim & fon et 3
Wmﬁs’iﬁﬁﬁ%mqaﬁgﬁ@
2 g W yeifed wifww gl (a)
(-1,2) e Hd ¥ W (B) (1, 0, 3) ST
4 Fedl ¥ WA fe wefme s o8
o wfeerd &1

(@) dwfed A 3w & 1 wfemfs wroqen
qframﬁrqfa‘m'% T & HEYEO 9
mmﬂa}m’ﬁmﬁiﬁ%@
T R
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() () & Wwfe & fau el am @

(a)

(b)

(@)

TR U e @ @ fen amer g
S HIS Sy wfmefa &,y
AN o® U & e afnfad #@ gu @
U d H: SR G E(ry) - 7
E(ry) = F....... E(r,) = 7, U@ gfEwfq &
AN ® YW o2 WA i ® A@g j ufeEmta
F AW W OGETRT o, Tl

T URwIfeE W feR #ifm S @
et | w6 2 B AfEE W g W
FHM: w, = 1/4 T w, = 34 I 7 =0.12,
% =0.15, 0, = 020, 6, =0.18 T3 o,, = 0.01
fear T R 3@ UCwIfeE & Wrg W@

“The CAPM changes our concept of risk of an asset

from that of o to that of .” Show this by deriving

the relationship between the expected rate of return of

an individual asset with its individual risk. 75

How is CAPM expressed as a pricing model ? Derive

the certainty equivalent form of the CAPM.

453

P.T.O.
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(¢) Distinguish between capital market line and securin

" market line. _ 75

G-t

(#1) capMm TRl SiEm & SR ®1 SEuRm
F B ¢ ¥ URERA F@ Bl W AR
dfen & @ o wRemtn @ SR
gfard & @ & |9 gy F R @
T feemra

(9) cAPM ® &Ma #fsdl & &9 § Y IH
mm%chvM%ﬁﬁrﬂﬁmmm
fufor sifs)

(W) wfngfa IR W@ (smu) w@ §R AR T e
& 9" IR W Hifwu)

(@ () Consider a world in which there are only two risky
assets, A and B, and a risk-free asset F. The two
risky assets are in equal subply in the market;
that is, M = % (A + B). (The following information

‘is known -

rg = 0.10, 63 = 0.04, 0,; = 001, o5 = 0.02

and r, = 0.18.

-

Find oi,, By, and B;.
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(if)  The security market line expresses the risk reward
structure of assets according, 10 CAPM. Comment..
2415415, 2.5

M () A negative value of B implies that 7 > rr Do

you agree ? Give reasons for your answer.

@) (A) Consider a risky venture with a per unit
share price of ¥ 875 which is expected to
increase to ¥ 1,000 after a year. The standard
deviation of the return of the venture is o
- 40%. Currently the risk-free rate is 10%.
The expectéd rate of Teturn on the market

portfolio is 17%, with a standard deviation -

6f 12%. Find the expected rate of retum of
this venture and the expected rate of return

predicted by capital market line. Compare the

two and comment.

(B) Given that the beta of the risky venture is

B = 0.6, find the value of the share of the
risky venture based on CAPM.

25,25 +1+1.5

(o)

(/)  Explain the property of non-satiation with respect’

to the efficient frontier.

P.TO.
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(/1) Calculate the beta coefficients for the two securitiés.

(H) )

from the following information :

0; "iM_\1
Security A 05 0.6
Security B : 06 -0.2
Market Portfolio 02 l

O, is the standard deviation of the rate of return
on asset I; p,, is the correlation coefficient
between the return on asset / and the return on f

the market portfolio. 25,5

@ﬁwﬁﬁaﬂaﬁﬁqﬁgﬁma'
Sifem it afewfa A o p o T S
e ftgmfa ¢ &) SR § Q@ Sifem W@
afcaeafaai #1 qfd @ @ st f®
M= 12 (A +B) & frafafed e 1
Eiecari S S S

rp = 0.10, 0% = 004, 0 = 001 oy = 0.02,
A, - 0.18.

ol B, 3 p, w A B
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Gy CAPM @ ITTER wfavfa s e et
e QR EE h IR I
¥ fomolt wife

(@) 0 B F R H Foaww @
sy, FNOWMT WeWd € 7 oAU IW
$ 9§ H HRU FAEY

@) (F) YO THEE IR FAT 875 T b

Y T SifeE 3Em W faem i

N TE I H AE 1,000 TG GG

FT A AT A R ITF F A

1 WY e o = 40 W ¥, G4

Sifgw e X 10 wheE ¥ AR

/. UEEfdd WS YO g 12%

aeE fomem d@fed 17% 1 osw wEw

1 AR GREITR W ST oy

Y R T AE FHISC A F qe

Fife wa fooof i)

(@) fem T ® & Sifedt sem

B =06 TI CAPM W s Shifam
TEH E G YA & Hew W wifn

P.T.O.
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,(H) (i) ﬁwfqaqaﬁwﬁwﬁqashf@qeﬁaﬁaw
IR W‘ﬁfﬁﬁtu

¢y Trafatad gen @ Q@ wfayfad & fon
ﬁamwmﬁﬁm

S Pim
wfasfa A 05 | 06
wfyfd B | IO.6 g
EIS IR ‘ﬂéqﬁfm‘r ,_0.'2 : 1'

Wmmﬁawmﬁaﬁm
OIWWWWQJQH[W&T

TN F S WEEE e p, ¥

7681 12 1800 |
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r. No. of Question Paper : 7687

Jnique Paper Code : 12033905
Name of the Paper : Creative Writing®- _ ge
N Y
Name of the Course : B.A. (Hons.) English CBCS—
(SEC)
semester : III
Juration : 3 Hours Maximum Marks : 75

[nstructions for Candidates

l.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. The paper has two Sections A and B.

3. Section A has three questions; Section B has four
questions.

4. Answer all the questions.

SECTION A
Answer all three questions.

1. (a) Answer any two from the following ih about 100
words each: (5+5)

P.T.O.
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(i) What is the relationship between creatiyity,

and madness? Give your views,

(i) How can reading widely and deeply help
you develop oneself as a creative writer9

(iii) Can Creative Writing courses help in
fostering creative writing? What is your

opinion? Give a reasoned answer.

(iv) Are art and propaganda intrinsically linked
or can they be separated? Discuss with a

contemporary example.

(b) Answer any two from the following in about 100
words each: (5+5)

(i) Discuss the difference between an epic and

a lyric.

(ii) Discuss the importance of stage setting and
dialogue in a play. Are they absolutely

necessary for drama?

(iii) Write a short note on the importance of

plot in a short story.

(iv) Discuss any two kinds of novels which
you have studied about. What are the

differences between them?
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(c) Answer any two from the following in about 100

words each: (5+5)

(1) How has new media helped in creating
newer and diverse platforms for sharing
creativity, especially in creative writing?

Give your views.

(1) In your opinion, what are the ways in
which an interviewer should prepare
before meeting the person they are to

interview?

(iii) Discuss some of the features to be kept in

mind while writing for the radio.

(iv) Discuss at least three types of advertisements,

with examples.

SECTION B @ LIBRARY .

o) B ;;

Answer all four questions. 7
. N\

M N o/

1. (a) Read the passage given below and identify any

five literary devices from the list: (5)

(i) Metonymy

P.T.O.
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(1) Oxymoron
(i) Alliteration
(iv) Pérsoniﬁcation
(v) Hyperbole
(vi) Simile

(vii)) Onomatopoeia

(vii) Pathetic Fallacy

The clouds wept in anguish,
But their dark, hard faces showed no remorse.
The poured clear, cold water onto hardened soil,

Too late for so many, dead or dying from hunger
and famine.

As cold as ice, as warm as regret held too long,
fell the drops.

The slow plink-plonk of drops unheard by deaf

ears, wasted on unseeing eyes.

Flood or famine, it’s the same,

The poor suffer-silent, slow, sinking into the ground

one step at a time,
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The rich implore the Holy name, hands folded,
fists formed.

All eyes are raised, but manna falls to far too
few.

Even the Heavens play a game- who knew?

(b) Identify any five tropes/figure of speech from the

examples given below : (5)
(i) It’s so cold I froze into a popsicle!

(ii) Please put your hands together and clap

for our superstar!
(iii) The buds peeped, shy and hesitant.
(iv) Her madness has a method to it.
(v) I'm sorry to hear your aunt expired.

(vi) Heard of the seafood diet? You see food
and you eat it! :

(vii) ASAP

(viii) Malayalam

P.T.O.
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2. (a) Define/Explain any two of the following :

(1) Sonnet form
(i) Narrative Poetry
(iii) Inspiration

(iv) Point of View

(b) Define/Explain any one of the following:

(i) Character in Drama

(i) Bildungsroman

(c) Define/Explain any one of the following :

(i) Standard Advertising

(i) Opinion columns in print media

(d) Define/Explain any one of the following :

(i) Revision

(1) Editing

(3+3)

3)

3)

(3)

3. Write a short poem using the following words: market,

silver, impression, street, colour.

(10)
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Or

Write a dialogue between two friends who have
met after many months. Use the following words
in their dialogue: market, silver, impression, street,
colour. (10)

4. Edit the following and rewrite it cbrrectly: (10)

In the 21% Century, it is prim important to learn the
art of time management Never before in history has
it been so important. It is vary difficult to manage
time these days. There is always so much to do
and so mush to ditstract one —it is an ever ending
procession of distractions! Work, sleep, eat, watch
TV, surf the internet and thats it! time has fled
into a huge blackhole fro where it cant be retrieved
ever, it would seen. Befour you know it the day is

dun.

Everywhere one turns, there are articles, newspaper
columns, Tv hosts who lecture the hapless citizen of
this century to take control of their timebut to no
avail. Whoo can blame an individual who is surrunded
by an ever-growing army of ways in which time can
be wasted; not to mention the fact that commuting

now takes larger than ever, and far two many poeple

P.T.O.



7687 8

live a long distance away from they work due to rising;
home costs and many people also migrate in search
of work oppurtunities which is a huge expensive ag
well. They return home tyred; hence no time for 3
walk, or exercise or relaxation. Manly individuals don’t
even cook at home anywhere and they don’t even

take time to enjoi their lunch or diner.




[This question paper contains 2 printed pages.]

g
(_\(@ Your Roll

Sr. No. of Question Paper : 7701

Unique Paper Code . 12053301

Name of the Paper - s 3k B W

Name of the Course . R g () B - e -dagew
qEaehA — CBCS - SEC

Semester . 1T

w@: o 3Ee uffer : 75

BE = g fEw

1 WE-TF % Fen § S Ry I AR T W AT s
forfam o

2. |F v & I AR

fasmm &1 oftamr 3 T SEA AR @RIl W WIS
gﬁ%‘W\ (]2)

Jrrar
gafsE Frwd A fawme @ e @ s SR |

2. WRd i @ #th dnaw @ RRwan Qewm ' @k |

(12)

P.T.O.



7701 2

W%Wwa}mﬁgﬁ H W S W HWY |

y e R fdivar S IHT B AT TR S g -

o & g @ A P @ TRE T W AR
(12)

(1700)



A 311

This question paper contains 3 printed pages

Your Roll No. ...
SI. No. of Ques. Paper : 7707 i ¢

] (9 IC
Unique Paper Code 112313901 -

Name of Paper t Understanding Heritage

Name of Course : B.A. (Hons.) Hlstory

7
p: &%

CBCS - SEC
Semester : 11
Duration : 3 hours

Maximum Marks : 75

(Write your Roll No. on the top zmmedzately
on receipt of this question paper.)
FF T¥F7 & fred & sw 2 7 faffa
&M RS9 7791 ferad 1)

NoTe:— Answers may be written either in English or in

Hindi; but the same medium should be used
throughout the paper.

feorott.— z@ gvagw @1 3w HAS @ 7<) 9
qrar § Zfaw dfadT gyt I FT AT U g
ACIR A

Attempt any four questions.
All questions carry equal marks.

far=1 &t gea & 3™ T
asit gt & o T &

P T O.



2

7707

1.

(§9]

(Fy]

Broadly highlight the similaritics betWeen Heritage
and History.
IR a3l gfaErd & AHEasll W Srfa |

What is the significance of festivals and fairs in
understanding our cultural heritage?

A THE fadd @ gnee & fau o v =
ST HEWT © 2

Highlight steps taken by the government to protect
our National Heritage.

T UEE faUEd & @@ H WER SR = S

N A
Ioid id % 7

Explain the role played by Heritage in nation building
and the challenges faced.

T & fmn A forwa & 9eH quT 3EE gt
TAifaat & GHFTET |

. Highlght - the differences between tangible and

intangible heritage.

wida wd sreafyfa fawma &t foerael w S
grfau | |

Do you agree with the view that attack on world
heritage sites is nothing short of war crimes?
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ST WY 39 W Q weghfa wa @ fe fasstan g8
et & fawy fordt @ & R A &a Tl ?

. Are muscums relevant in understanding our past?
Discuss.

AR 37dld &l U & U GUEd el doh 9&d
g2

. Write short notes on any two of the following:

(a) Art treasure

(b) Sanchi Stupa

(c) Unity in diversity

(d) Archaeological Survey of India.
frer & @ faedt & W feoot ST
(a) HT B

(b) Wil &[4

(c) fafasar # Tehar

(d) ARG qaarfcs Gee |
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1.

o

Do you agree with the view that Heritage i5 , multj-
dimensional concept? Give examples.

mmmmﬁm%‘ﬁlmﬁwfﬁm
2 2 3T HfT |

. “History is the record of the past, Heritage is 5

celebration of the past.” Discuss.

“mmwm%muﬁaaﬁa/mm
én”m@maﬁf‘w}

. Critically analyse with examples what are tangible and

intangible heritage.

mq@aﬁwﬁmﬁaﬁwﬁh@m&h
T 41 ¢ |

Discuss briefly how various national acts have aided in
Heritage preservation.

T faed % W ¥ fafver qEta statent @

Compare and contrast Nagar and Dravid style of
architecture with examples.

TR T gfag war dfedl # qumar @ ofdld W
mmﬁam
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6. Why do Heritage sites fall prey to vandalism during
times of war and conflict?

a W YR S W N fqund F el w1 Fen fama
QN fHar s 22

7. On the basis of your visit to a Heritage site explain
how Heritage and Tourism are related.

feet fama wd ® ol fedt aon & sqwe &
F{ER R W@ WA & A6 graf 1 wizy |

8. Write short notes on any two of the following:
(2) Lodhi Garden and Tombs
(b) Heritage and Politics
(c) Archaeological Survey of India
(d) Challenges in Preservation of Indian Hema.gg

S Sl
7 ¥ fesdt @ W feuuft sifse; 7 9((
‘ fé" I\
(a) @ret AT T TR (@ LIBRARY g
(b) et @@ il *{% S
<4 ?} ﬂ @ R\

(c) WTZdra quafcas Fefem
(d) Wm?ﬂmm?ﬂﬁﬁ@ﬁm'

1200
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1.  Discuss the features of criminal justice system in India. Hag

it been able to establish rule of law in India? Justify your

answer.

TR | ot i e @ faguast @ et
HITT | g wra ¥ faftr @& e i w1 § gey
T R? AN I D T A db QR |

]

You are travelling from Delhi to Agra in a train. A mob
boarded the ujain and forced you to vaéate the seat for them.
Your co—paséenger argued with them and the mob threw
him out of the moving train. As a witness to this incident
how would you file an FIR in the police station?

T Rt ¥ SR Yo F A A% © ¥ s ant
T TE & WW w oo @ @ w5 @ R
FTH Fe9 HIAT & | SAYH Fedr=l T4 69 BT § AR
IE TYE S¥ TAAl (@S § T &b ol § | 3/ 9IS &
TEE B % A0 AW Yo ©IE H qrafet 5 @R
FAT ?

3. Critically analyse the changes in laws against sexual

harassment at workplace.
Fraed W AA. 3diEd § geiad S § §T SSad &
ATATAATHE fagauor ST |

4. Which offences are considered as atrociiies under the Scheduled
Caste and Scheduled Tribes Prevention of Atrocities Act,

19897 Suggest steps to make the Act more effective.

7742 2



agfya i wd sy sewnfa (remEre frve)
arferfae, 1989 & afcrta @ A A st a2
oty @y st wnagne) aa @ fao e
QT

3. What do you understand by minimum wage? Discuss
various provisions available in the Minimum Wages Act of
1948 to protect the rights of the exploited workers.
O W /N T e &7 i wegd @
SR B TR @ § <[aw goglh ffam, 1948
ST Ry wrauw @ =4t @it

6. On what grounds can an application under the RTI Act be
rejected? Explain with examples.
7 ol W aRAeE. affem & oiwfd smdeT &
e T S gear §7 IR dfed e S |

7. Critically evaluate the main provisions of the Scheduled
Tribes and other Traditional Forest Dwellers Act, 2006.
Fgraa ST Ud S IR g s, 2006
% I YEgH Al AEHE i By |

8. Write short notes on any two of the following :
(i) Bail
(i1) Section 376
(iii) Gram Sabha and Social Audit

(iv) Consumer Rights. K o

} 742 3 \\7"




fPrefefee & @ e & w aRm ool il
()

(i) =mT 376
(iii) T T iR Ao St
(iv) SUHIT SARGR |
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mw&mtﬁ BN I UEHA a1 Al o7 fdy
et wep s A A, Qg wly g o g
SNt 7 w4 =feu

(c) All questions are compulsory.

sl wew orfvart ¥

1. What do you understand by the word - ‘Chanda’?
Write in detail on Sanskrit Meters. 9

‘BT X 9 ST T FHS © ¢ Gpd BRI
< foar | REa

OR
STear

Write an essay on Bharata Muni’s contribution
to Sanskrit Meters.

9 g @ e SRARE S AE g,
e @ fefEa |

2. Write short notes on any two of the following :
4+4=8

g & @ st a1 ax e feodh R

(a) Syllabic verse

T gd



(b) SyllabO-Quantitative Verse
qof - J¥p g

(c) Method of gapa marking
o T @ Afy

(d) Gati
UG

Explain any two vedic meters with examples out

of the following : 6+6=12

fFrrafefaa afkes s=<if & 9 el & & I|eTT
giezd & Hiea

(i) Brhati
gl

(ii) Gayatri
el

(iii) Jagati

ST
3 P.T.O.
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4. Write short notes on any two of the following :
o+5=10

et & & Roedl @ o€ T Rt el
(i) Types of Vedic Svara
afees @l & TR
(ii) Pada- pﬁtha
w®
(iii) Uhyagz‘ma
DR

(iv) Samavikara

AR

S. Explain classical meters with examples of any

two of the following : 6+6=12
R aifss =i & O fpedl & 9 S
afea T B -
(1) Totaka

aresh



(ii) Vidyunmala
RIS

(1i1) Sragdhara |

gy

. Write short notes on any two of the following:
6+6=12

Rrfofad § @ Reedl & oX dftra feoelt il

(i) Gandharva
e
(ii) Nada
SIE
(iii) Marcchana
Czall
(iv) Giti
Mifer
OR
HEQT

E‘xpalin : ‘dharmartha-kama-moksanam-
idamaiveka-sidhanam’.

W Hfte : ¢ yRtlpmEHETnERaSareTT |

S . P.T.O.
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By marking the gapas on any three of the
following verses indicate the name of the

meter : 4+4+4=172

Arfafag @l & @ Bl i 9X 97 @ g
o< $ Aoy I :

(i) SeggaEHaaEEf gt
ESESURESERIISICREIUCH
STHIOIAE g S
Wﬁmn |

qAE @ |

(ii)Fr 7 w99 A T AOS gRa: |
| gEEEl gEEe HAf qYTEEt (|

(iv) Hifrageeafa gq@afa a1 @ile=rag=fd
Fifaearatady HAfa & GA: Bifa~Tagan |

Faa=rafemrarauaddr fafer: 1| |

6
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SECTION A

1. (a) A college professor needs to determine the average spending by students of
her college. To conduct this research, she chooses a sample of 30 students

from her own course.

(1) Whichsampling method has been used by the professor? Critically

discuss the ‘e‘ldv‘aht“ages and disadvantages of this method. (4)

(1) Is the sample selected by the professor a true representative of the

entire population? Why or why not? | ‘ (3)

(1) Suppose three courses are offered by the college. What sampling
method should be used to ensure students’ representation from all the

three courses? Explain. ' (3)

(b) Explain the command used for calculating a 10% trimmed mean in R. (3)

~

(c) Explain the Excel functién used to calculate Skewness and Kurtosis.  (3)
(F) vF & & e &1 A9 Hiosd & STl TarT Shad @9 1 Uk T 21 5|
MY Fl FA F o0 98 I TSAFH ¥ 30 S I U qiaed gt 2

(i) v g ferm wiedt @t fafer o SwanT fmar war 87 5w fafr & s sk
zifr & s fadasr ‘

(ﬁ)wmmgmmuﬁzﬁﬁﬁmﬁwmuﬁﬁ&%?aﬁmaﬁ
& ? | |
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(i) 7 S s ator T Ser s e A SR ¥ @ T
W @ ufafa e YAfvaa meY @ fow fa afvesl wafy = 3@ R
SR RO Y e )
(F) R A 100, Ry fae e ey A W W Y Iuda A S A e 9 A
N /

) Mﬁw’mﬁm%mmvﬁavmﬁﬁmﬁl

Consider a traffic controller recording the number of trucks passing through

ra

(a)

a bridge every evening for a month. The average number of trucks passing

through the bridge is 600, and standard deviation is 30. Suppose the shape

of the population is unknown.
(1) Explain Chebyshev’s theorem. Use it to detefmine the percentage of
evenings in which the number of trucks passing through the bridge are

between 480 and 720. (6)

(i) How likely is it for the number of trucks passing through the bridge on

(4)

any evening to be less than 5407

Write the R command to obtain an urn of balls containing two balls of each

(b)
3)

of the three colours: red, yellow and pink.

(c) Explain the Excel functlon used to round off the number 3.456 to the lowest

[ ooy G f1900 1100

o Mmteger How does the functlon change if you have to round off this number
‘ t: 2 } ) Il ) i, . .

to the hlghest mteger? - (3)

P.T.O.
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() v FE @ Y & I vE T A TORA A1 gohl oh Sl RS e Aot A
forrae T RAR ) @ A TR a1 ol @ e S 600 B, 3R A fraeer

30 21 99 difoie f&F S &1 RR EE =

(i)%ﬁﬁa%,ﬁuaﬁmﬁmlmmm@%ﬁ%%ﬁ
IS AR F g A O A Tt 3 W 480 3R 720 @ € 2

(ii) TRt T Y Ot & o AT T o) G 540 & TH B9 & Rl Gaqrge
2

&) ﬁﬁwwmmaﬂ%%ﬁv R wae ford fred = 990 W ¥ 2 v oy
- aﬁ%‘ﬁ:m,ﬁwsﬂzﬂa@n

(1) HE 3.456 R Freem quite ¥ quitfer @ @ fre - —
F A S 5 e Y I i ¥ gl
27

3. (a) 80 students of Class V" in a school appeared
Following arc the marks of a sample of 5 stu.

test -

| Mathematics | 80 | 76 [ 99 |75
English 75 180 |95 |69

(i) Compute the sample coefficient of ¢

Mathematics and English. Interpret you
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(i) Calculate the Z scores of Mathematics marks. Are there any

outliers? (35)

(b) Suppose a University adopts the following grading system for conversion of

marks to grades :

Marks | Above 65- Below
80 80 65

Grade | A B C

Write the Excel command to recode the “marks” variable into grades using

IF function. Present the data in (a) in the form of grades. (3)

(c) Suppose you are given the following data: 9, -5, 3,7,-10,-12, 19, -4, 1,
-6, -22. Write R command to figure out the positions at which the numbers

are less than zero. - . (3)

(@) v wet A TEA wmE & 80 ST AW IR IS A e = fow Iufer gw
qaeor & fog Iuftad gU @t ot ¥ ¥ 5 S @ wiied fomr @, e s
f=fafaa 2

ot |80 |76 [99 [75 155
- |

~ 69 |
sk |75 |80 95 [69 T50

— —l
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(i) T e SN & S & A wpEy ® e o R W) So
TR & swen @)

(if) TE D sl D 7 wR & W0 @) T B JFeeat B7

(®) 9 AW & Rvafiaem s@ S B A qeomr @ R Feafafas AT gom

FEE R

IF [ 80TFUT | 65- |65%
80 | &

IF %99 F1 I740 a0 “Ha” A I ¥ iR QA e N D Rie v we
) Fws # (2) I 3 T A IR W

(1) @ #Afse s Fefafaa e few e .9, -5, 3,7, <10, -12, 19, -4,
1, -6, -221 {5 92l @ @ 371 @ &9 ®, I v @ @ e R @S e

SECTION B

4. (a) Consider a harbour where ships either arrive on time or they arrive late as
per their scheduled timings. If on an average, one out of 10 ships arrives
late, find the probability that out of a total of 5 ships schedu.led for any

(5)

single day, at least 4 will arrive on time.
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(b)

(c)

(d)

(=)

7
Explain the Excel function that can be used to calculate the}probability in

(a). 3)

A soap manufacturing company was distributing a particular brand of soap
through a lTarge number of retail shops. Before a hcavy advertisement
campaign, the mean sales per week per shop was 140 dozen. After the
advertisement campaign, a sample of 26 shops was taken and the mean
sales per week was found to be 147 dozen with standard deviation of 16
dozen. At 3% significance level, can you say that sales have increased because

of the advertisement campaign? Why or why not? (5)

Suppose data on sales of soaps for these 26 shops in Part (c) is stored in.

R. Explain the R command for testing the hypothesis in (c). (3.5)

TF SEEIE W EUR o Rl oIET A1 @ iR e W uged € a1 3 fase ¥ uga
213 #FFA 10 9 ¥ UF W <4 A I B, @ [ v o @ o frufRa @
5 FETA A A FH A FA 4 S 999 W 95 il WG S el

UFAA GFIA F Al i fEa 31 (a) ® wiiesar @t wr & fore fRar s

FFA 2|

Wmmmmﬁ@mﬁwm%mﬁwﬁﬁwm%a@
=1 faaen = @& a.wmmmﬁ%m;uﬁmmmm
fagt 140 zo= A faso sfvae @ @@, 26 gEA 1 AR R sk wiy
A FAH ot 147 T o T SR A faee 16 @9 5% HEeq
Wm,a”ar\mwwﬁ%ﬁvﬁamaﬁmm%mﬁaﬁﬁqﬁgggg?wm

E (I

PTO.
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() w1 ofore f s (1) % = 26 THEA @ T AET A f W e R ¥ Tém
21 () ¥ WRevewn @ W @ o R w0 o e

5. (a) Inasample of 400 parts manufactured by a factory, the number of defective
parts was found to be 30. The company, however, claimed that 29, of their
manufactured products are defective. Check if the company’s claim is tenable

at 5% level of significance. Interpret your results. (5)

(b) A potential buyer took a random sample of 9 electric bulbs of brand A and
9 electric bulbs of brand B. Upon testing, he found that Brand A had a mean
life of 250 hours with a standard deviation of 40 hours whereas Brand B had
a mean life of 220 hours with a standard deviation of 55 hours. Answer the

following questions:

(1) Write the null and alternative hypotheses to test whether there is

any difference in the average bulb quality between brands A and

B. (2)

(1) For this hypothesis, compute the value of the pooled sample variance

3)

“and pooled variance ¢-test statistic.

(iii)- Is the data consistent with the hypothesis that the two brands do not

. 2
differ significantly in quality at 5% level of significance? (2)

» 1 I om 5kg to
(¢) Suppose the data on weight of rice bags which ranges from
' d Ricebag. Explain the R

i in R, name
is stored in a data vector m K, |
e lourful histogram,

i - d co
command(s) for constructing a neatly labeled and ¢



4386 ' 9

with unequal bins. Following are the breakpoints for the bins: 10, 20, 40,

and 90 Kg. (4.5)

For visually impaired students, in lieu of 5(c): Explain the use of Is

command in R with the help of examples. (4.5)

(%) v wwan g A 400 TEH @ v wfed ¥, Sl wdw o G 30 WE TR
1 e, N X arar R fr R P S ¥ A 2% At 21w W&
T FIN H A 5% HEE B TR W ARG B JIY TR &) e

(@) T GWIiad @RR T T8 A & 9 el @ 968 3R oE B & 9 fasien & ol &1
g Afaed fomm ude R W IR 9w fF s A @ 40 U & WHeh e
% st e 250 B2 w o wlE e B A 55 W2 & W e & A
220 B¢ T 3fEd e an FefoRes year & IwR dfg

(i) 712 A 3R B & & sﬂwawgwﬁw?taﬁi R 2 A1 AE g§ Wa B forg
I N Jefeud dReea ford |

(i) za "RFw % fore, qos Jue TET 3R qes W ¢ e Sihel @ 4o
il AT F |

(iii) =1 ¥e1 3@ aReneu @ 6T 2 R 2R ae 5% WeT B TR W IvrEEn A
aEeqqul &7 A foe 78 27

(1) A T aras & @ ge W 3T S 5 fRel A 100 fRel T A 8, R F FeT Ao
¥ wuda faan o 2, Ricebag 8T S B WW%WWW-@
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Yearse FrafaRad ®:10, 20, 40, 3R 90 faan

FReTAT o @ g, 5(71) & T K R A |s AT & ITNT & Jemo

N FEEA A TR

The average number of tons of sugar sold in 5 countries in January 2020 are

as follows:
174. 161, 167, 171, 163, 141, 147, 154. Calculate the median, minimum,
maximum, Q1 and Q3. Is the data skewed? = , : (6)

Explain the meaning of power of a test. ()

In an inspection by Weights and Measures Department to measure the quantity
of water filled in 2-liter water bottles, the inspector wants the mean amount

of water filled in these bottles to lie within +0.01 litre with 95% confidence

" level. What sample size is needed for the same? Assume standard deviation

(d)

to be 0.05 litre. 4)

Explain the use of Excel functions F.INV.RT() and F.DIST.RT() with the

help of examples. (4.5)

(&) T 2020 F 5 29 A I WE A A s G 3@ ER B : 174,161, 167, 171,

163, 141, 147, 154, AfezAe1, AT, siftrma®, Q1, 3R Q3 & T | T 3

w27

(@) T gdwr @ A @ FF e H
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TABLEE.2-

The Cumulative Standardized Narmal Distribution

Entry represents area under the cumulative standardized

normal distribotion from —% (v Z
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TABLEE.2

The Cumulative Standardized Normal Distribution (continued)

Entry represents arca vader the comulative standardized
nammal distribution fror. == 16 7
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TABLE E.3
Critical Values of t

Fora particular number of degrves of freedom, entry represents
the coneal valwo of ¢ correxponding 1 the cumulative probability
(1 = ) and o specified uppee-ail aca (a).,
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TABLE E.3

Cntical Values of t (continued)

For a partizular number of degnees of five,
cndative peohatvlity {1
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TABLEES
Critical Values of F

For a particular combination of nurnerstor and denominator degrees of ficedom, entry epresents the critical valuwes
of F comesponding to the cumulative probability (1 — aj and a specified spper-tal ares (o).
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TABLEES

Critical Values of F {continued)

Fora pmhrmbtnmonufnumammdrmmmmrdcgm
of F corespondig to the comad ative probahility (1 -

s of freedom, entry represcnts the critical values
- a)and a specified upper-tail areas ().
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paper.
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2. IO A F B W, T T H I Gep A1 et A1
Fon fF ver o A AR, AT % 3 #5719
BT =fRY |

3. THWEA N FA 6 WA 7 | A3t wew e ¥

1 DRI H I AR FEm W uw REew Bl (12)

Write an essay on the origin and development of

chandahéﬁstra.

JHAerar / OR

T W AR H FT WS AA T 27 JerE B
¥ TRAE A A F ARG

Which part of the Ved-man is considered to be the
chandase? Explain the importance of chandah$astra

as a part of the Vedas.

2. WA W N TR A W S o awd 27 Gepd o
= wEi F W W e wRaka W (12)
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Can the verse be performed from the instrument as

well? Underline the significance of music from the

point of view of recitation of Sanskrit chandas.

Jrar / OR
T = wafm-Na ¥ Ta & o< W< g¢ o0 TR

U ISR A IR0

Are Sanskrit chandas used in Hindi film-songs? Explain

with an example.
3, D= F AT A AN H HE Idd 8¢ AR HAE T
T F AR (12)

What is the significance of ganas in composition of

chandas? Elucidate the siitra yamatarajabhanasalaga.

Jerar / OR

e & fre WA A 87 T ¥ R B A R s
& qui e

P.T.O.
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What are the quantities of Guru? Describe any verse

that starts with Magana.

4. TFFR IR A9 IO A WENW B A B hl AT ISEN
TRF W W (12)

Explain the verses starting with four consecutive short

letters with characteristic examples.
JHqAqdr / OR

EERSE N2 B IR O 0 R B T B G e e IR T G

Eif

What does Sarvaguru mean? Describe a verse that is

sarvaguru.

5, m,aaamaﬁzwﬁamaﬁzﬁgﬁ%wwu%?
fr=fafad ¥ 4 va Afew 3k e cifers ©= &1 &
JereRn |fEe Uity ¥ (12)
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What is the relation of Udatta, Anudatta and Swarita

with the Vedic verses? Introduce one of the following

Vedic and one luakika chandas with definition and

example.
e, S
brhati, jagati
afort, famafet
malini, $ikharini
grerar / OR

PrefRad ¥ ¥ vw ARE R v i T H FATehd
F7 whadeT &1

Out of the following, present the musicality of one

Vedic and one luakika chandas.

anustup, pankti
sRafaenT, fag=met
harigitika, vidyunmala

P.T.O.
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6. TfcfEm ¥ ¥ o = w o s (15)
Write a short note on any three from the following :

gfy, WAEd, oY, Tk, 9Q

yati, matravrtta, laghu, guru, pada
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